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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Question ID : 9864493888
Status : Answered

Chosen Option : 2

Q1 ofidl oy sissl Hoad v 8,
yall vl de sl
sis | wa | s@e | wd [ wBam| 6w
. A| 40 |37 35 | 27
> B| 6 | 26| 76 | 86
3 c| 8 | 71| 4 21
4 D 1 7 3 11

The Party which won the highest number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.

1 A 40 37 35 27

2 B [§] 26 76 86

3 C 83 71 4 21

4 D 1 7 3 11
Ans x 1.D
X2C
v 3B
<A

Q.2
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Question ID : 9864493667
Status : Answered

Chosen Option : 2
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3. Faells Al FHil B

4. oedl Hgrsydl FHol 8.
Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
No mango is an orange. No orange is an apple. Some mangoes are apples.

Conclusions:
1. No apple is a mango.
2. No apple is an orange.
3. Some oranges are mangoes.
4. All apples are mangoes.

Ans X AIZEL 1 224 3 A B
1.

Only conclusion 1 or 3 follow

2 g5 AREL 1 V442

Only conclusion 1 follows

s S5 AIREL 2 4 3 YA B
Only conclusion 2 and 3 follow

" S5 AIR0L 2 AU

Only conclusion 2 follows

Q3 o x2 4 kx + k =0 58 G¥ct uRnaq «t2l, ol k o Heet v w s 524
Ifx? + kx + k = 0 has no solution, then the value of k will satisfy:

Ans X1 k>4
K2 k>—4
K3 k<4
vio<k<4

Question ID : 9864492816
Status : Answered
Chosen Option : 4

Q4 ozl Ul 2ol sridluizll vizdl uos waiz 20

BEAK : EIFQ :: SAIL :

Select the missing term from the related pair of letter clusters.

BEAK : EIFQ :: SAIL :

Question ID : 9864493923
Status : Answered
Chosen Option : 2

Ans - X1 VREN
< 2 VERN
# 3 RENV
v 4 VENR
Qs
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X azg [Ea &4, Y 6@ 8, “X A HEL Hidldl Dz Hst oAl oL 87, ALY S X AL .
Pointing at X, Y says, “X is the son of the only son of my mother”. Then Y is X’s

Ans X1 AL
Father-in-law
) 22/ ALl
Grandfather
X s )
Brother
" [l

Father

~x

Question ID : 9864493908
Status : Answered

Chosen Option : 3

Q.6 ARAs Axy AR WA yldBa sl Rect wlsuysa g sdauHl WA B?

Metal oxides which react with acids as well as bases are called:

Ans 1 ARG vlsABsA

Acidic oxides
x, Hoedt WSAB A

Basic oxides

) AR5 AsUBsU

Amphoteric oxides

, cleRel AsUB3U
Neutral oxides

v

x

Question ID : 9864493212
Status : Answered
Chosen Option : 4

Q.7 wueaHi A slasiell wusld (Problem Figure) A Gl 2u5[ (Answer
Figure) Usloll dlsul AR B, Gt w5l (Answer Figure) 58 B2

Problem Figure
Answer Figures
A B [ D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure
Answer Figures
A B [« D
Ans x 1.4

X2
XD
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Question ID : 9864494081
Status : Answered

Chosen Option :1

Court esy

RRB


http://rrbportal.com/
http://rrbportal.com/

http://rrbexanportal .com
VS

Q.8 myryeuml v 21z W fAuiel 4Rl vugld-dl Aoy dizz SHsr ue &30 .
= = Question ID : 9864493682

Problem Figure Status : Answered

; Chosen Option : 1

Answer Figures
A B C D

From the given four figures choose the correct water image of the below figure.

Problem Figure

e

Answer Figures

X Xx X
Ans x1_A

X2cC

X 3B

v 4D

Q.9 i Bz (G2 Bzl 12 5e0s 5134 5241 16 WA 8 5els Tl B, i 15 513 67 U

514 52l 2eL Ul B, Bl 8 saus Al 24 iy s 2 Teal vpeli€l oge wisi? Question ID : 9864492449

A piece of work can be done by 16 men in 8 days working 12 hours a day. How many Status : Answered

men are needed to complete another work, which is three times the first one, in 24 days Chosen Option : 3
working 8 hours a day?

Ans T
X 1 25 il

25 men

v2 24 el

24 men

X3 22 WEl

22 men

X 4 23 el

23 men

Q.10 a2l p i '
wtlals 9l owldl s 8% e U T 4400 atllA el uHaAM T 4576 Question ID : 9864492546

32
Status : Answered
In what time will ¥ 4400 become T 4576 at §% per annum interest compounded half —
yearly? Chosen Option : 1
Ans
v 6 H(3all
6 months
x2 7 H(3olL
7 months
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Q.1 e Sl vuell oy i Ie i
e Aol Ballui wiell el Ao Ad diududl [@seua ude s2A Question ID - 9864494237

Status : Answered
Chosen Option : 2

5811 505 | SO 20 K IO

Select the option that will correctly fit in the blank space in the given figure series.

I—O—OO—D—O

-

98119041 5

vl

Ans

X a

Q.12 @ sioll2ll A wA B Bl vucll slwa viogsi 18wl 27 scusHl ¢l ab &, vt sl
o2l ool stelRet ot Slat @u? otofl ¢ vt sl 45 seusHl wiell 53 ad 8.
urzeHl ik sl wiell sdl @R «tofl A wal ool ¢ g sraunt 2udl adl.

wys seis udl ool A ol sraunl wudl el 2 g2t % otofl B W saml
widl edl. 20U, Slor A 55 seUs ctol sl «lofl B dectl scus il
Ul Avieil 2l sdl?

Question ID : 9864492811
Status : Answered
Chosen Option : 1

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours Pipe A was turned
off and Pipe B was turned on mstantly. In all, it took 55 hours to fill the cistern. For how
many hours was Pipe B turned on?

Ans  of 1 45
< 230
< 350
X 427

Q.13 eligsllEFzal 22U 71x10% HzAl 2 »i- 3% 108 m/s<l A 20 4300 uzilBd 83 9. w0
Al AFardous o 87

Question ID : 9864493104

. . . . Status : Answered
A broadcasting station transmits waves with a frequency of 71 x 10* Hz and a speed of

3x%10® m/s. The wavelength of the wave is: Chosen Option : 2

Ans
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“1_422.5 Hlz2

4225 m
X 2. 3246 ¥z
324.6 m
X3 208.4 {l=2
208.4m
418.8 {lz2
418.8m

X 4

Q.14 o] A=l 2us@Aul A @Ased we 53 B Asleell dvaua 2% 524l 8l Question ID - 9864494011

Status : Answered
Chosen Option : 1

Select the option that represents the number of triangles in the following figure.

AN

Ans X1 G
<2 4
V35
K43

Q.15 2017 A WG 5U S8l sieeletHl alBeE Pl HI2 el 565 SHa satell
acdl?

Which team did India defeat in the final of the 2017 Men’s Asia Cup Hockey to claim the
title? Chosen Option : 3

1 ellocLE el
Bangladesh

Yl

China

x 5 Wet
Pakistan

" HARW

Malaysia

Question ID : 9864492299
Status : Answered

Ans

X2

Q.16
Question ID : 9864493885

Status : Answered
Chosen Option : 3
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SIRBUAL
1. LAl [BRE B E delldl Yl 4l edl

2. i ulAL [AE 8 e Al 2 el
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
A mother is crying in the hospital as her only son died in a road accident while driving his
bike.

Assumptions:
1. The mother thinks it’s her son’s fault.
2. The mother thinks that God is not with her.

Ans ?<11:H32bv3%&u3@
Both 1 and 2 are implicit

(2ﬂ&H§ﬂ2mwB®

Neither 1 nor 2 is implicit

Yo, B0 1 AR
X 3. d

Only assumption 1 is implicit

Yo, U0 2 YR 9
X o A

Only assumption 2 is implicit

Q17 Auatl wgloll wealloll WU dclA cadllsd s2cl H2a] Hiot Sl o2l B?
The credit for classifying the elements on the basis of their atomic masses goes to:

Ans x Rsot sl SARAR
Johann Wolfgang Dobereiner
v - Bl Redclla
Dmitri Mendeleev
x5 et sleeet
John Dalton
, %8t AQAsMER il Aot
John Alexander Reina Newlands

x

Question ID : 9864493214
Status : Answered
Chosen Option : 4

Q.18 7 94 yslell wealled HI2 Yalel 53 B A 141 QL Rnd B %l g5 Al
eellod HIZ 4 9[QL el wileall dlat WA €35 wlal welel H2 1 98l
stuclHl weall Slat ol ¥ g2l % usllell vilel wellod el wieal Sl dell
Al B

X attempts 94 questions and gets 141 marks. If for every correct answer 4 marks is given,
and for every wrong answer 1 mark is deducted, then the number of questions wrongly
answered by X is

Ans 1. 40
V247
X 5. 45
X 457

Question ID : 9864494021
Status : Answered
Chosen Option : 2
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The least number to be added to 435 to make it a perfect square is?

Question ID : 9864492560
Status : Answered
Chosen Option : 3

Ans X1 9
V26
<8
X4

Q.20 Az weu 2 seusHl welle @y &dl o 8. cllsd 528, A udy ere

HE2 zg sells cloall. clls ouldiauet cel wellA decl dHaMl wslr siél ok

87

Question ID : 9864492492
Status : Answered

Chosen Option :1

A pipe can fill a sump with water in 2 hours. Because of a leak, it took 2 g hours to fill the
sump. The leak can drain all the water of the sump in:
Ans X 1 11 scls

'11 hours
X 2 1h SCGUS

. 15 hours
. 6 SCLS

. 6 hours
, o S¢S

. 8 hours

Q.21 Azl 22 % (A 2] Mledld 24 dwrael) dilEs D6 w1 8.

et
Big Sl 3] A 24l UF B E ol Al v sRUAT oI Dz 20 Holld 2 £

Question ID : 9864493838
Status : Answered

Chosen Option : 1

ARG
1. Sl WolEl 208 e sl 2l vl sAd
2. Woitfiel sl UE stz 520l Hale vl ssis.

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statement:
A company cannot make profit unless both, management and employees work together.

Conclusions:

1. The workers should be advised to cooperate with the management.
2. The management must be advised to cooperate with the employees.

Ans 1 B 2 ol w4243 9,
W =
Both 1 and 2 follow

HinL ALZEL 1 W 19,
Only conclusion 1 follows

Hiz ALZEL 1 WD 8.
3.

Only conclusion 2 follows

AL AL 1 AL 2 wAx3 6.
x4 =

Neither 1 nor 2 follows

Q.22
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U Uretd 2lAH] Al i {18 2ule Bridisiel 24 Beid 51 nsddl syt AdaL HE 3d § Status : Answered
Al gl Chosen Option : 4

2 sl spedie] 4l 2 §7?

[Eru-k:
1. Sl Gl A Al [l 5341 25 48 AL S

2. gluid uszadl 49 1974 Hi sr-Ha ot d-tl [dl 5241 35 ol AL 8

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is the birth year of Mr. Rajesh?
Statements:

1. At present Mr. Rajesh is 25 years younger to his father
2. Mr. Rajesh’s sister who was born on 1974 is 35 years younger to his father

Ans x1_

(el 1 %isd uzd 8 el [Aaid 2 Sied wad 4l
Statement 1 alone is sufficient while statement 2 alone is insufficient
> Wil 2 DY, ool [FELAL WAL
 Both statements 1 and 2 are sufficient
x5 (e 1 A 2 HiEl £19 2 wrd 8
Either statement 1 or 2 is sufficient
X 4

(Relid 2 Pizd U2d 9 oruid [Are 1 Hed Y4 <l
Statement 2 alone is sufficient while 1 alone is insufficient

Q.23
LE\Q <Q —J Q Question ID : 9864494130
1 2 3 4 5

Status : Answered

Chosen Option : 4
AG v
6 7 8 9

ol WAl sl 1A s ¥ alr Guallol 530 Ael uygl olell asdl
Blal, Al A uydl el

SORVI=RN
NG Uw

If three groups could be formed using the given figures only once, these groups
would be

Ans X«(l’ 9, 4), (3, 4, B) Wa (2, 5, 8
(1,9, 4), (3,4, 6)and (2, 5, 8)

v (L8BG4 U (2, 5, 8)
(1,9,6), (3.4, 7)and (2, 5, 8)

L(2,9,6), (8, 4.7 wUA (1, 5, 8§
(2,9,6),(3.4, T and (1, 5, 8)
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4 (1, 9, B), (3, 5, 7) el (2, 4, 8

(1,9,6),(3.5,7)and (2, 4, 8)

Q24 [Foy uBEuami Fed naed adal M2 g w2 87

What enables an electric current to flow in a circuit?

Ans SessieuAl a4
v 2 =

The motion of electrons

ACGIR
X2 Y2l a4

The motion of neutrons

ileziqdl aq
3

' The motion of positrons

, Wil
The motion of protons

Question ID : 9864493325
Status : Answered
Chosen Option : 1

Q.25 1536120141 2018 1 AR 9. 18 2l 20191 [Ba 24l AR sil?
15% February 2018 is a Thursday. On what day will 18% April 2019 fall?

Ans AR

Ko
Thursday

v? a1z
Saturday

A2

p 3
Wednesday
Uzl

X4
Friday

Question ID : 9864493034
Status : Answered
Chosen Option :1

Q26 4 2020 < Zds2 221 AT HE HIA G872
The calendar for the year 2020 will be the same for the year:
Ans  of 12076
< 22096
< 32040
< 42044

Question ID : 9864492574
Status : Answered
Chosen Option : 3

Q27 576 of clolym 9] &7
What is the square root of 5767
Ans XK1 36
v 224
< 326
<434

Question ID : 9864492663
Status : Answered
Chosen Option : 3
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Railway Recruitment Board (RRB) NTPC Exams Study Kit English
I 91t SIS AT (NTPC) I8 38T Ao il
RRB Loco Pilot (ALP) Exam Study Kit English
{4 it S Sl IIRIeIE (ALP) S0ETT 3EU0eT Aealt i)
RRB Group-D Exam Study Kit English
Yrd #1clt SIS Group-D IHET eI AN i)
Study Kit for RRB JE (Junior Engineer) Exam English
AR FfAR St e (=0T -1) 3eaae fohe )
IAS EXAMS STUDY MATERIALS
Study Kit for IAS (Pre) GENERAL STUDIES Paper-1 (GS) English
Study Kit for IAS (Pre) CSAT Paper-2(Aptitude) English
AT AT (GS) IR T (Pre) THR-1 fe=ar
S, U vy, (H-He) TR giET 99T -2 fe=ar
Gist of NCERT Study Kit For UPSC Exams English
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As of 2018, who is the CEO and president of MasterCard?

Ans UMsyid (e
X 1.
Prabhjot Singh

x 2 w9l (g
Darsh Singh

v s [He sliol
Ajaypal Singh Banga

1[5 weadl@ul
< 4 =

Waris Ahluwalia

Question ID : 9864492348
Status : Answered
Chosen Option :1

Q.29 3 BElEAl Bzdlz 4 8 syl @GR (2, 4), (- 3,- 1) 24 (5, 3) 221 BMAMl =015 8.
The area of the triangle whose vertices are given by (2, 4), (— 3, — 1) and (5, 3) is:

Ans v 10 =iy sy
10 =q. vnits
, 20 A7 wigH
20 =q. units
, 14 A2y vz
14 =q. vnits
L7 Ylay visH

7 sq. units

Question ID : 9864492855
Status : Answered
Chosen Option : 4

Q30 e dvaitell AellHiel yedl divel ude 53l

4,9,20,44,7

Select the number missing from the given number series.

4,9,20,44, 2

Ans x 1. 80
205
<390
#4100

Question ID : 9864494273
Status : Answered

Chosen Option : 4

Q.31 <5 ABCD s ULl AU B, dl cos?4 — cos?B — cos?C + cos?D o HEL g &7
1f ABCD is a Cyclic Quadrilateral ,then the value of cos?4 — cos®B — cos®C + cos?®D is:

Ans X 1. -1
X 21
<32
Vo

Question ID : 9864492556
Status : Answered
Chosen Option :1
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Q32 e[l wis 1A 8 s8R B2

A sound of single frequency 1s called a-

Ans w2+l el ()
KL=
Pitch
U2
X2~

Note
@fn

X s
Hertz

) 43
v

Tone

Question ID : 9864493503
Status : Answered
Chosen Option : 3

Q33 allade] 53 A% Waollode] Al HE Geues B 2
‘Which Indian state is the largest producer of Soyabean?

Ans 38U Yzl

<
Arunanchal Pradesh
" Heal Yial
Madhya Pradesh
x [EHiue vl
Himachal Pradesh
x4 uY ygsl
Andhra Pradesh

Question ID : 9864492108
Status : Answered
Chosen Option : 4

Q.34 &7 sH BEE D E M N7 A 20l aiee smaL WiE dlisadiml v Al seedl Hedl wan 5 ¢i?
If all the letters “D E M N” are arranged to form a meaningful word then the last letter of

Question ID : 9864493779

1.
1 Pascal/sec

S KT ERT
v
1 Joule/sec
,1 PERTRER
1 erg/sec

http://rrbportal.com

the word will be: Status : Answered
Ans x 1. M Chosen Option : 2
K 2N
V3D
X 4E
Q.35 -5 aio
WEHlE = 7 Question ID : 9864493502
One Watt =7 Status : Answered
o Chosen Option : 2
Ans 1 Wiesa/ais-g P
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'1111}'5

Q.36 3 i {2y B oo 3 - o]
flmidl & sig 430 oz gl 2 wWABUL sl 447 Question ID - 9864493311

Which of the following metals does NOT react with cold or hot water? Status : Answered

Ans x ﬁ‘é@l‘!{]{ Chosen Option : 3
1.

Potassium

X 2 Hifzm

Sodium
, w M [

v

Alumininm
X 4 P

Calcium

Q.37 gl A, B {i oL 87
o101l 2018 <l Faldu, iz sudl-l Al s 87 Question ID : 9864492174

As of February 2018, who is the India-born CEO of the Nokia company? Status : Answered

Ans %ii?. ﬁ{’\’llﬁ Chosen Option : 4
KT
Sundar Pichai

HeY ALial
X2
Satya Nadella

x 3 weLE [Fe ool
Ajaypal Singh Banga

2129 il

v 2
Rajeev Suri

Q.38 12 dveril A, B, Cual D udl & & pell dadloll wlge? u2219 16 AR B. A
A B ol ARRAL 9.5. B. C uA Dol 2R2AU G B2

Four numbers A, B, C and D are such that their overall average 1s 16. The average of A Lo
and B is 9.5. The average of C and D is: Chosen Option : 2

Ans X' 1.255
2225
< 323
K 4215

Question ID : 9864492818
Status : Answered

Q.39
Question ID : 9864494126

Status : Answered
Chosen Option : 2
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uegsul | ual | el@q |y | uBlu | Gd
% 4 2
1 i 0 | 37| 38 | 27
2 B 6 |25| 76 | %6
3 C g3 | 71| 4 | 21
4 D 1 7] 3 |1

R CHRGIEUER DB ETEORIEER]
et A A au dssl___ sl wdcl

Parties and the seats won by them are listed in the following table.

S.No. |Party | South | East | West | North
1 A 40 37 | 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11

Based on the given data, complete the following sentence:

Party B won the largest number of seats fromthe
F ! E'@@’L
South
v O
North
o uElH
West

Ans

ol Aol SleesHl usl wal Axell gl HAcll Asslell 2l 2aruciHl el B,

Q40 g el 15% A ol 45% .

15% of 60 is 45% of
Ans X 1.180

v'2 20

< 330
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Question ID : 9864492746
Status : Answered
Chosen Option : 1
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< 440

Q.41

Ans

ol Udloll 56 GHA S[A (Answer Figure) WU Slausiell 2415(A (Problem Figure)
ofl a2l wdlatedl ol (UM B.

Problem Figure
A
Answer Figures

B2 2 %

A B C D
Which of the Answer Figures is the correct mirror image of the given Problem Figure?

B

Problem Figure

i

Answer Figures

P [Br %e| %

A B C D
r e
v2D
X 3B

B

Question ID : 9864494063
Status : Answered
Chosen Option : 2

Q.42

Ans

<4 A

71T Al HiZsd IR Adl dlemals 8 vl e Sasgiadl sy § dl £ Aseguul YRR AdL
Szl 2l 58 87

If I is the current through a wire and e is the charge of an electron, then the number of
electrons crossing in ¢ seconds will be given by:

<1 et
v 2 [te
< 3 Jte
< 4 lest

Question ID : 9864493106
Status : Answered
Chosen Option : 3

Q.43

Ans

we@c weldlloll @R 23auefl st wua A % Aot adl aldellet uueet
clARel g sdelul wd 82

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called:

X1 cal
velocity

2 %5cll
inertia

http://rrbportal.com

Question ID : 9864493199
Status : Answered
Chosen Option : 4
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momentum

ol

K4
force

44 565 2au2ll Vgl Blsal Al wA 555 ololld B?
Which permanent tissue makes a plant hard and stiff?

e g BaResEH
Sclerenchma
2 WA SLEHL
Aerenchyma

, SAASISHIA
Collenchymas

x s RELEIEE
Parenchyma

Question ID : 9864493255
Status : Answered
Chosen Option : 4

9 olvg Il AARA Bl sell @3l sl B?
The energy stored in a dry cell is in the form of:
Ans 1 AAUR s B2t

v
Chemical energy
2 A Gt
Kinetic energy
J
3 URHLE| Gl
Nuclear energy
x4 QML Al
Potential energy

Question ID : 9864493561
Status : Answered
Chosen Option : 1

Q.46 5442673314884743581
Gulset Al wuBlell 7 vauet sl 64l dvau 58 B

In the series 5442673314884743581, the number that is sixth from the left of the seventh
term from the right is:

Ans x1_7'
X 21
V3
X4

Question ID : 9864494385
Status : Answered
Chosen Option : 4

Q.47
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Question ID : 9864494160
Status : Answered
Chosen Option : 2
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Select the correct set that represents the following Venn diagram.

(A

O
Ans 1 yaull, QA defled
Males, fathers, doctors
v

UG oll208, U813 sHwRA, R <

Office boys, government employees, educated person
., @S], 21551, 9153l

Cat, toys, girl

X dolloll, Hegrall, ouzll

Doctors, human beings, cows

x

x

Q.48
2 Rl 2017 Fou 2luet Yur AL gallAee Yl odl2 Question ID : 9864492250

Which Indian won the 2017 French Open Super series tournament? Status : Answered

Ans . '9‘[].5“1 [SE-J'O'“. Chosen Option :1
v Srikanth Kidambi
. UAASHR Ay
Anilkumar Raju
s a2l AHU
George Thomas

, BuisR ez
Dipankar Bhattacharya

~<

<

A9 oH YyeuHi 7 Al 14 Al 9213 4 =il 87 Question ID : 9864493330

Status : Answered

The pH value increase from 7 to 14 represents a:

Chosen Option : 3

Ans v OH- iR 4813l
increase in OH- ion concentration
X2 H* HiglMi 821l
decrease in H™ ion concentration
x5 H* gL 4=zl

increase in HT ion concentration

http://rrbportal.com Courtesy : RRB
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decrease in OH- ion concentration

@0 o @scu wd oAl Mgfﬂ 1;@1 53 Question ID : 9864494029

Status : Answered

Chosen Option : 1

Ans

Q31 2zl syl oiEd eridlMial aH 2d vz il Question ID - 9864493746

Status : Answered
Chosen Option : 3

RAMA : MARA :: SITA:

Find the missing term for the related pair of letter clusters.

RAMA : MARA =: SITA:
Ans o 1. TISA

< 2. TSA

< 3 TIAS

< 4 SIAT
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92 {laAmiel £ H14 viaela ngld 2 87 Question ID : 9864493449

Status : Answered

i : P o
Which of the following salts is acidic in nature? Chosen Option :2

WHI[AUH S5z
1.
Ammonium Phosphate

x 2 Y[ RER TR bR
Sodium Acetate
75 N[ RE LN
Sodium Carbonate
oDy uegz
4.

Ans

Magnesium Sulphate

Q.53 2145 20 By 244 50 Eelzum asy 4041l 5 uzidl 4284l wulad oo g o, sl dudl

g, w2 2 123 Q7 Question ID : 9864493380

Status : Answered
‘What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them? Chosen Option : 4

Ans X' 1.16.675 X 10711 N
721667 x5 1°N
<3667 x 10711 N
v 4166.75 x 1071° N

Q.54 A-umisl & seididez 2pemi Sudl wgld we iz vl ols Bl o wiE Gl am 972 )
. . . . . . Question ID : 9864493288
‘Which of the following glows with special colour depending on the nature of gas in the

fluorescent tube? Status : Answered
Ans Chosen Option : 4
x 1 dllaun P
Helium

) A~ 221l Sedeid2
Bose-Einstein condensate

GIDLe
3

| Hydrogen
, LH|HHL
Plasma

<

v

Q55 gizui, AlAAwmidl 24 sllomi suiald w97 Question ID : 9864493298

In a plant, which of the following is converted into seed? Status : Answered

- Chosen Option : 1
s{leg5iel

Ans

v

ovule
) alds
style
o wislad
ovary
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afdsia
X 4

stigma

Q56 sl Usyelet HIZ BiLAWE B £4L 57
The essential organs in a flower for reproduction are:

Ans Uizl W Wz
<. N
the sepal and petal

x 2 Yl 2w oflsrsial
the petal and pistil

Yizal vl W2
< 3 =
the sepal and stamen

R e eleysilal
¥
the stamen and pistil

Question ID : 9864493077
Status : Answered
Chosen Option : 2

Q.57 sl 2UAE oA 2L dl 2t Asgl 220 E AL [Ez il £ wedl seus wiua
WA, 9.

iz didl, P, Q, R, S w1 T s xeumi Glou 8; Wi de 87?

(el

1. QAT <l atell wtisy 9.
2. SHUP ATl 424 8.

Consider the given question and decide which of the following statements is sufficient t:
answer the question.

Five people, P, Q, R, S and T, are standing in a line; who is in the middle?

Statements:

1. Qisto the left of T.
2. Sisinbetween P and T.

Ans x1.

LAl WRAAL 7ol 2L HIZT Dlad uad B, erdly 2 led Yad Al

1 alone is sufficient while 2 alone is not sufficient to answer the given question.
v

o . = = ~ - L~

VUUEL UAAAL SrALe AMALHIZ A dl 1 5 4 AL 2 Yrd %9,

Neither 1 nor 2 is sufficient to answer the given question.

X 3

BUUEL USeAeAL OrCL 2ATUAL HIZ 1 A 2 YAl B,

Both 1 and 2 are sufficient to answer the given question.

F
LUTAL WEeA-AL oratlot DU HE 2 Dleg Uad 8, ol 1 Sisd wad el

= ==

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

Question ID : 9864494103
Status : Answered

Chosen Option : 2

Q.58
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il 201741 ustliid ®rdld 2w dassu dldn 4R s BRar 4 dws sg 87?

‘Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila’ published in
20172

Question ID : 9864492201
Status : Answered
Chosen Option : 1

Ans =i 3
x 1 YA H3A
Chetan Bhagat

A HeAL
Rahul Mehta
SRR

| Robin Sharma
Y Bl

" Amish Tripathi

Q.59 sy ¢Rc{ld deddlales 2017 Ul (e 25 WelBrodd’ o2l 119 A Aofld 1z
A NS el edl?

‘Which Indian tabla player won the Grammy Award for his collaborative music with ‘The
Silk Road Ensemble” group in 20177

Question ID : 9864492333
Status : Answered
Chosen Option : 3

Ans '
v Aelu el

Sandeep Das
3 Rt (21
Rimpa Shiva
, LSRR g
Zakir Hussein

Al Al
Yogesh Samsi

~x

Q.60 2

> Wi Fzal Gl ; HA?

How much does one need to add to g to obtain g?

Question ID : 9864493022
Status : Answered
Chosen Option : 2

Ans Xti
-1

Xz
Xs.%
{4.2

1 6561 of adlyM 9 B?
‘What is the square root of 6561?

Question ID : 9864492743
Status : Answered
Chosen Option : 4

Ans x 1. 80
v 281
K377
<479

http://rrbportal.com
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Q.62 A widlA wA b ol Al 2us(Anisll €35 dvall Ael UaoAR U2 B, A [Qseu
Uie 53 7 w5l B 1l un Ba (2) A olecll ad.

101 43 48 34
38

35 15 56 184
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

101 43 48 34
38
35 15 56 184

A
Ans X 1.127
< 2128
3142
< 4136

Question ID : 9864494259
Status : Answered
Chosen Option :1

Q.63 5 clad, Foll Blxd Brud 7170 A Aol BHd 7 130 B, dotl UR dadzel
£R 9 82

The rate of discount on an article whose marked price is T 170 and selling price is T 130
is:

Ans X' 1.23.60%
W 2 23.53%
< 3.24.26%
X 42245

Question ID : 9864492548
Status : Answered
Chosen Option : 3

Q64 {131 1l sl vl 42l »0d 8:
Identify the odd one out from the following:

e
K=
Milk

) il

Ans

v

Water
A

&< 3.
Air
Fraaud

| Alloy

K4

Question ID : 9864493407
Status : Answered
Chosen Option : 2

Q6536 — [18 — {14 — (15- 4 + 2x2)}] =7
36 — [18 — {14 — (15- 4 = 2x2)}] =?
Ans J1_21
<220
< 3 23
K422

Question ID : 9864492579
Status : Answered

Chosen Option : 1

Q.66
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e e 2L diaid Hidl v Mzl wtie Hilsdluidl st 4z Al 14 wqei Status : Answered

SRRt Chosen Option : 2

[Ade:

Fralls YA el 8. Fzas vt B Hdel W2 s 5L Hayal .

Arell:
1. Fzens varold yadl 8.
2, Fzas AsrHeir wogl varord 8,

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some carpenters are plumbers. Some plumbers are daily wage labourers.

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

Ans =Y
S5 ALZEL T 24 59,

Only conclusion 1 follows.
. W 2 old eI B,

Both 1 and 2 follow.
, Al 1l 2 w33 9.

v

~<

Neither 1 nor 2 follows.

4 5 AREL 2 Vit 89,

Only conclusion 2 follows.

Q.67 : 0
sin 30 1 + cos30° Question ID : 9864492877
1 + cos30° + sin30° =7 Status : Answered
Chosen Option : 2
sin 307 1+::::-53!]°_q
1+ cos30° sinz0? o
Ans x 1.9
X 21
<33
V4
Q88 o[ty id-2xdld 1 Ti- ,
AR HALHALA LA S S BLAL Question ID : 9864493136
. Status : Answered
Growth hormones function: ,
Chosen Option : 4
Ans ( 1.

F2dls At QERAL NiEs A0S U D 2 226z Avid A4Z3AL waRiEe 42
sometimes as growth promotors and sometimes as growth inhibitors

GHAUL YlEHAL ieulss A%
2

| always as growth promotors
M1 oy 928l Uienlss 44505

§ rarely as growth promotors
http://rrbportal.com Courtesy : RRB
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4.

always as growth inhibitors

Q.69 201741 wiHfa-Hln Biedu affud (Lot end. oLdl) zua s siedld yonkld
2leuglifea 2l Plizes SAdiisind uml sl edi

‘Which Indian chief minister was awarded the ‘Transformative Chief Minister Award’ by
US-India Business Council (USIBC) in 2017?

<1 [Razalzdal
Siddaramaiah
) Agolod Alud
Chandrababu Naidu
3. dgiviz 4
K. Chandrashekhar Rao

x 4 Al Y2148
Naveen Patnaik

Ans

X3

Question ID : 9864492357
Status : Answered
Chosen Option : 1

Q.70 o{lAuioll 52Ul WEGLREA EXAIR oll ‘elcl 2eoll’ ML WRAA ol §ell 7
‘Who among the following was NOT one of the ‘Nine Gems’ of Emperor Akbar’s court?

v AU HLe AUAL vitat
Osman Ali Khan

| Yet-528ct Foot HolRs
Abu'l-Fazl ibn Mubarak

N $512 WollAl-[ et
Fakir Aziao-Din

, A% alsHA
Raja Todar Mal

Ans

<

x

Question ID : 9864492093
Status : Answered
Chosen Option : 4

Q71 oy ot wlefs wAAA SIBEHL 5% ol sl 2EH] 97
Metals are placed on which side of the Modern Periodic Table?
Ans el oo

-
Left side
sy MLl olleyl
Right side
= -.r =
X 2l g2l
Top row
X 4 Autlui-l s2inHi
Bottom row

Question ID : 9864493533
Status : Answered

Chosen Option : 4

Q.72
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HEL 2018 <l Ralasd y4182e 22zl 3rd sldbucy sfian (@zdlail)dl 2 s sirda- l Chosen Option : 1 J
Rz wdl?

‘Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 20187

Ao 4z
Neil Chatterjee
. RIS
Ajit Pai
X3 AlAi 214
Neomi Rao
X4 L Ml
Seema Verma

Ans

Q73 oflAelt guoll WA doitl ol tRladl Slat Adl waR UE 52U Question ID - 9864493684

Status : Answered
l P E I o Chosen Option : 1

1 2 3 4
Select the letter which does NOT belong to the group.

PlE|I]O

1 2 3 4
Ans (1_1
K22
<33
<44

Q.74 o By wA 2Aul a2 T 870 aduell 1.2 ot ezl sl el &dl, }
) Question ID : 9864492946
Aelal Becl da Head #3192

If T 87 was divided between James and Radha in the ratio 1 : 2, how much money did Status : Answered
Radha get? Chosen Option : 2

Ans  of 1.Z 29
#2359
x5 ¥ 58
X 4T57

Q.75 <@ Well A Asll olief uat yais B, 3 P s2dl £25 Hlal uet Yels Na A dzysd

Question ID : 9864492604

Avudletl Mreuo 33 el w52 ®. Al P B Status : Not Answered
‘P’ is the smallest positive integer such that every positive integer N greater than ‘P* can Chosen Option :

be written as a sum of two composite numbers. Then ‘P~ is:

Ans XL 6
X 23
V311
< 410
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http://rrbportal.com/
http://rrbportal.com/

RRB EXAMS

PRINTED STUDY NOTES

Railway Recruitment Board (RRB) NTPC Exams Study Kit English
I 91t SIS AT (NTPC) I8 38T Ao il
RRB Loco Pilot (ALP) Exam Study Kit English
{4 it S Sl IIRIeIE (ALP) S0ETT 3EU0eT Aealt i)
RRB Group-D Exam Study Kit English
Yrd #1clt SIS Group-D IHET eI AN i)
Study Kit for RRB JE (Junior Engineer) Exam English
AR FfAR St e (=0T -1) 3eaae fohe )
IAS EXAMS STUDY MATERIALS
Study Kit for IAS (Pre) GENERAL STUDIES Paper-1 (GS) English
Study Kit for IAS (Pre) CSAT Paper-2(Aptitude) English
AT AT (GS) IR T (Pre) THR-1 fe=ar
S, U vy, (H-He) TR giET 99T -2 fe=ar
Gist of NCERT Study Kit For UPSC Exams English



https://rrbexamportal.com/study-kit
https://rrbportal.com/study-kit/Railway-NTPC-Exam
https://rrbportal.com/study-kit/Railway-NTPC-Exam
https://rrbportal.com/study-kit/Railway-NTPC-Exam
https://rrbportal.com/study-kit/Railway-NTPC-Exam
https://rrbportal.com/study-kit/Railway-NTPC-Exam
https://rrbportal.com/study-kit/Railway-NTPC-Exam
https://rrbportal.com/study-kit/railway-ntpc-exam-hindi
https://rrbportal.com/study-kit/railway-ntpc-exam-hindi
https://rrbportal.com/study-kit/railway-ntpc-exam-hindi
https://rrbportal.com/study-kit/railway-ntpc-exam-hindi
https://rrbportal.com/study-kit/railway-ntpc-exam-hindi
https://rrbportal.com/study-kit/rrb-loco-pilot
https://rrbportal.com/study-kit/rrb-loco-pilot
https://rrbportal.com/study-kit/rrb-loco-pilot
https://rrbportal.com/study-kit/rrb-loco-pilot
https://rrbportal.com/study-kit/rrb-loco-pilot
https://rrbportal.com/study-kit/rrb-loco-pilot-hindi
https://rrbportal.com/study-kit/rrb-loco-pilot-hindi
https://rrbportal.com/study-kit/rrb-loco-pilot-hindi
https://rrbportal.com/study-kit/rrb-loco-pilot-hindi
https://rrbportal.com/study-kit/rrb-loco-pilot-hindi
https://rrbportal.com/study-kit/railway-group-d
https://rrbportal.com/study-kit/railway-group-d
https://rrbportal.com/study-kit/railway-group-d
https://rrbportal.com/study-kit/railway-group-d
https://rrbportal.com/study-kit/railway-group-d
https://rrbportal.com/study-kit/railway-group-d-hindi
https://rrbportal.com/study-kit/railway-group-d-hindi
https://rrbportal.com/study-kit/railway-group-d-hindi
https://rrbportal.com/study-kit/railway-group-d-hindi
https://rrbportal.com/study-kit/railway-group-d-hindi
https://rrbportal.com/study-kit/railway-junior-engineer
https://rrbportal.com/study-kit/railway-junior-engineer
https://rrbportal.com/study-kit/railway-junior-engineer
https://rrbportal.com/study-kit/railway-junior-engineer
https://rrbportal.com/study-kit/railway-junior-engineer
https://rrbportal.com/study-kit/railway-junior-engineer-hindi
https://rrbportal.com/study-kit/railway-junior-engineer-hindi
https://rrbportal.com/study-kit/railway-junior-engineer-hindi
https://rrbportal.com/study-kit/railway-junior-engineer-hindi
https://rrbportal.com/study-kit/railway-junior-engineer-hindi
https://iasexamportal.com/study-kit/upsc-pre-gs
https://iasexamportal.com/study-kit/upsc-pre-gs
https://iasexamportal.com/study-kit/upsc-pre-csat
https://iasexamportal.com/study-kit/upsc-pre-csat
https://iasexamportal.com/study-kit/ias-pre/csat-paper-1-hindi
https://iasexamportal.com/study-kit/ias-pre/csat-paper-1-hindi
https://iasexamportal.com/study-kit/ias-pre/csat-paper-2-hindi
https://iasexamportal.com/study-kit/ias-pre/csat-paper-2-hindi
https://iasexamportal.com/study-kit/gist-of-ncert
https://iasexamportal.com/study-kit/gist-of-ncert

